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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TIRET (RF)a—F {TEHET (KF) & 10 11 12 13 14 15 16 17 18 19
8011 IRAETFRERLY 0 0 0 0 1 1 1 1 1 2
8012 IRAET TR ER A 2 0 1 1 0 2 5 6 5 4
8013 PR A BT 558 (X 2 2 0 1 2 0 0 2 0 0
8021 IRAHET KLY 0 0 0 0 1 1 0 1 1 1
8022 IRARETIR KA 0 0 0 0 0 0 0 0 0 0
8023 IRAET K 0 0 0 0 0 0 0 0 0 0
8031 IRARETHR ALY 1 1 2 4 0 2 2 3 2 3
8032 IRARETHRAA 0 1 0 0 0 0 0 0 0 0
8033 IRARET R A (X 0 1 0 0 0 0 0 0 0 0
8041 IRAETESIFLY 0 0 1 0 1 0 0 0 0 2
8042 IRAETELIRA 0 1 0 0 0 1 2 1 0 0
8043 IRARETESIR (X 0 0 0 0 0 0 0 0 0 0
8044 IRAHETBHIR(Z 0 0 0 0 0 0 1 0 0 1
8045 IR AHET B851% 1 1 2 1 0 1 0 1 0 1
8050 IR AT SR A 1 2 3 1 1 0 1 1 3 3
8060 IR AT 5T %8 2 0 0 0 0 3 1 2 2 1
8070 IRARETER 0 0 2 1 2 1 0 2 0 3
8080 NG E: S 1 0 1 0 1 1 0 1 0 0
8090 IR AR ET i E 2 2 1 0 0 0 1 0 0 1
8100 IRABTH /R 0 0 0 0 0 0 0 0 0 0
8110 R ASHET )1 55 1 0 0 1 0 1 1 0 1 1
8120 IRAETEEMS 1 1 2 3 1 0 2 2 3 3
8130 IRAETH E 0 1 1 1 1 2 0 2 2 2
8140 IRAETEEERT 1 0 3 1 4 3 2 5 1 6
8150 IRABTEEEL 1 2 1 0 0 2 1 2 0 0
9999 IR X ET 16 15 20 15 15 21 20 32 21 34
9010 FTHIAEH 11 8 14 9 10 8 10 10 4 4
9020 FTHEEA 5 3 10 6 8 9 4 9 7 3
9030 FTH#H%EH 39 27 41 27 3 22 20 23 21 20
9040 FTHEHHERE 23 18 24 29 28 23 22 24 16 30
9999 FTHREE 78 56 89 71 80 62 56 66 48 57
9110 RETTH L 13 9 11 14 6 18 17 15 10 10
9120 SERTHIE 4 6 4 5 4 9 10 10 3 3
9130 FEHHE 2 1 1 2 3 1 4 3 4 1
9140 FRET Tt 3 5 9 3 8 5 8 7 12 11
9150 SERT E&5 8 8 11 11 12 7 13 8 2 8
9160 SRETERAT 14 12 8 10 8 13 15 15 8 13
9170 fRETANH 17 13 17 17 19 15 19 16 10 18
9180 TRETER 8 2 14 11 15 7 6 6 11 13
9190 fERTZ O 3 1 6 2 0 5 3 3 4 4
9200 SR Er I 4 6 3 7 5 3 2 3 4 3
9210 RETEH 7 7 7 9 4 9 5 12 7 4
9220 SEMT R 15 7 14 13 7 1 10 13 18 9
9230 5 BT B M 11 19 13 12 12 10 12 11 4 12
9240 SEETIE R 3 3 1 3 3 5 6 1 4 6
9250 SEETAL Frith 11 14 16 11 12 9 8 6 10 26
9999 R XE 123 113 135 130 118 127 138 129 111 141
9310 B [SHET X 2 0 2 2 2 3 3 4 4 3
9320 HIGHATAL 5 3 1 2 3 9 4 6 5 3
9330 HGHET/NE 1 0 3 2 3 6 2 4 1 3
9340 HIGHTE 7 4 5 9 7 10 7 15 8 8
9999 R X 15 7 11 15 15 28 16 29 18 17
9410 RETTE 9 3 11 10 9 8 8 7 7 4
9420 RETHAE 0 4 1 2 4 2 0 1 3 2
9430 RETER 0 2 1 5 2 2 1 2 1 0
9440 RETAGEF 0 0 0 0 0 0 0 0 0 0
9450 SRETHER 0 0 1 0 0 0 0 0 0 0
9460 REM{—HE 0 0 0 0 0 0 0 0 0 0
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THET (k) 3—F {TIERHET (KF) 4 10 11 12 13 14 15 16 17 18 19

9470 RETEXR 0 0 0 0 0 0 0 0 0 0
9480 RETHEAR 1 1 2 1 2 1 2 1 3 1
9999 REREE 10 10 16 18 17 13 11 11 14 7

99999 &&t 1065 1066 1156 1108 1180 1233 1198 1251 1147 1173
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TRET(KF)a—F {TEHET (KF) 4 20 21 22 23 24 25 26 27
10 H BT 1 3 5 3 1 5 4 2
20 Jidud:ing 1 0 0 1 1 1 1 3
30 AT 9 3 3 0 1 2 2 1
40 LRET 1 1 3 4 0 2 0 3
50 AET—TH 5 11 3 6 6 9 10 5
60 ABTZTH 1 2 3 5 5 6 4 5
70 ABT=TH 8 8 3 5 4 8 3 2
80 ¥ ST 3 T 0 0 0 0 0 0 0 0
90 PR T IR AT 1 1 8 0 3 6 4 2
100 e FLET 3 2 1 0 6 2 2 2
110 ¥ATHT 32 25 27 24 16 22 26 18
120 FAT ASHET 4 3 3 2 3 3 1 3
130 TEFET 7 3 8 6 4 7 11 10
140 £ [] T 1 0 0 2 1 0 0 0
150 1 FFrHET 4 8 7 12 14 4 7 4
9999 KIEHRXET 78 70 74 70 65 77 75 60
510 ABTETH 5 5 3 4 7 2 7 1
520 W EEMT 3 0 0 2 0 2 2 1
530 J\WBHET 2 3 3 3 2 4 3 2
540 18R AT 4 10 7 1 2 9 7 5
550 Frith T 10 8 7 4 4 5 1 7
560 = ZMT 0 4 0 5 5 3 4 3
570 EERT 1 0 2 0 1 2 1 1
580 FrEAET 2 2 3 0 2 4 2 6
590 HEET 1 0 1 2 5 0 0 0
600 RET 18 13 12 13 9 7 9 10
610 R ET 1 3 5 3 8 1 4 0
620 HEET—TH 0 0 0 1 1 0 0 0
9999 J\REXET 47 48 43 48 46 39 40 36
1010 BRHT 6 7 5 5 5 5 5 4
1020 L+ AHET 2 5 3 5 6 8 9 7
1030 th T 6 4 1 3 4 4 1 6
1040 B A ET 7 8 9 8 11 4 12 1M
1050 K AT 11 10 16 13 9 13 10 4
1060 F_EHT 7 8 8 12 7 11 9 11
1070 rIRET 12 21 10 12 9 19 16 27
1080 & HHET 6 11 12 6 7 8 10 15
1090 HEHRT 16 17 9 8 8 7 5 10
1100 L+ BEHRT 6 9 13 4 12 4 11 10
1110 f21EHT 1 4 3 6 4 5 4 5
1120 t21F JTHT 1 2 0 0 0 1 0 1
1130 + &< HT 1 0 1 1 0 0 0 0
1140 FR[RET 0 0 0 0 1 0 0 0
1150 FRET—TH 3 2 1 2 1 5 1 1
1160 FRET=TH 7 4 2 6 3 2 4 3
1170 s 7KHET 3 1 4 4 3 2 4 1
1180 EEEALHT 10 10 7 9 3 6 3 5
1190 ¥ FAHT 3 3 1 5 3 3 2 2
1200 KFE—TH 1 3 2 2 1 1 1 0
1210 KFEEIZTH 1 2 2 4 3 3 2 1
1220 FTHET 3 3 2 5 0 1 1 3
1230 TR HET 3 1 2 4 1 2 1 1
1240 = EHT 2 3 3 8 0 1 4 4
1250 TEEmT 5 4 1 2 3 3 3 3
1260 pR=E 3T ] 0 1 0 0 1 1 0 2
1270 HEEMET 2 3 3 1 2 2 5 3
1280 PRAEHT 4 3 4 1 5 3 2 1
1290 fRET 3 2 5 1 5 4 5 3
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TERET (K)a—F {TIRHT (K5F) & 20 21 22 23 24 25 26 27 28 29

1300 A ZEHT 0 4 2 3 4 2 1 1 3 1
1310 RILHET 1 4 3 0 2 0 1 0 2 5
9999 AR XEE 133 159 134 140 123 130 132 145 128 170
1510 HED_E BT 16 20 14 15 10 13 11 1121 21
1520 HEH T HT 14 13 7 4 11 7 10 8 13 12
1530 HEHI0 ST HT 7 4 4 2 6 9 11 4 13 4
1540 KiEHT 10 15 8 11 13 6 6 11 9 15
9999 HERNAR: X 5T 47 52 33 32 40 35 38 34 56 52
2010 EERET 2 4 3 1 4 2 71 2 2
2020 EJ=Licl i 6 5 8 9 10 8 7 7 5 8
2030 gy 0 1 0 1 0 1 0 1 1 0
2040 LBET—TH 3 2 5 4 3 3 1 5 4 2
2050 HMBET—TH 4 3 3 6 5 4 1 4 2 2
2060 ¥g (eI AT 1 0 1 0 1 1 1 0 0 2
2070 FET—TH 5 3 8 4 2 1 3 2 5 6
2080 FRETZTH 7 4 3 4 5 2 4 1 5 8
2090 iR AT 25 25 27 32 24 35 34 29 21 30
2100 ==bdi5) 7 4 1 4 12 6 5 7 7 10
2110 HEWNETET—T B 5 6 4 2 7 5 5 3 2 4
2120 WEHEHET=TH 8 12 5 6 3 2 6 4 5 7
9999 ZERRXET 73 69 68 73 716 70 74 74 59 81
2510 N 40 23 47 32 33 32 46 50 43 52
2520 JKEEET 21 27 23 30 15 25 25 28 271 36
2530 =/NEHET 18 5 5 8 4 7 10 8 11 8
2540 FHiGHT 11 9 12 4 3 5 7 8 11 5
2550 SRET 4 6 3 1 2 4 5 2 8 10
2560 = EfT 18 16 18 15 15 11 15 8 23 27
2570 KEHRT 0 1 0 2 2 0 0 1 0 1
9999 WERXET 112 87 108 92 74 84 108 105 123 139
3010 RATHET 17 14 18 11 12 10 7 14 19 10
3020 EiTHT 28 17 17 18 19 5 17 21 10 28
3030 L E7HT 20 18 12 13 21 5 11 17 15 21
3040 T _EET 2 4 2 0 1 3 1 1 4 2
3050 BN G BT 32 43 32 37 36 30 36 52 51 41
3060 HETHET 7 1 2 10 5 2 7 3 3 11
3070 T BN EET 9 16 14 13 7 4 10 6 8 2
3080 H hET 7 8 8 11 11 8 6 6 9 10
3090 FH SRR AT 8 11 15 8 9 2 6 8 5 8
3100 Hch e fT 18 12 18 14 25 23 9 18 19 20
3110 z2==bld: 1) 12 4 13 11 9 7 13 20 12 7
9999 INTFEREXET 160 158 151 146 155 99 123 166 155 160
3510 LR EHT 2 3 3 4 8 2 2 4 4 1
3520 SR 8 7 5 5 4 5 4 4 1 5
3530 ERTH 17 23 16 14 23 23 27 16 23 17
3540 Z= R KHT 4 10 6 7 7 1 7 5 0 7
3550 AEFHT 19 16 15 12 13 18 14 16 12 17
3560 = T EHET 1 4 5 2 2 1 2 6 8 10
3570 = T AT 19 15 17 12 13 14 15 6 22 27
3580 | L FRET 12 16 12 16 13 8 10 6 13 17
3590 JERT 0 0 0 0 0 0 0 0 0 0
9999 =S HEKRXE 82 94 79 72 83 72 81 63 83 101
4010 1| QBT 2 3 4 1 8 2 6 3 1 7
4020 {E&HT 3 3 4 1 1 1 2 2 0 0
4030 SHT 9 6 6 5 4 3 3 1 3 1
4040 = HEAET 8 6 3 8 4 8 5 8 6 8
4050 7K E/T 10 15 9 12 13 11 8 8 10 8
4060 EZZ HHET 2 5 1 5 1 8 7 10 13 5
4070 dt R BT 0 6 2 2 5 1 6 11 11 4
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TEET (KF)a—K {TIRET (KF) 4 20 21 22 23 24
4080 =TiSAMT 3 2 5 3 1
4090 SRR BT 4 4 6 2 o
4100 Rl 0 2 3 1 0
4110 dt S FOET 4 0 2 1 5
9999 SR XET 45 52 45 41 47
4510 EREE—ZEHT 12 9 14 15 13
4520 BREE — FHT 5 4 3 2 3
4530 EREE = KT 2 3 4 1 3
4540 ERZE P FHT 3 2 8 9 6
4550 BREE T T 5 5 3 3 3
4560 EREE N FEHT 0 0 1 1 2
4570 EREEHFHT 5 3 2 7 3
4580 AR )\ FEHT 0 2 2 3 2
4590 EREE N FEHT 6 4 2 4 9
4600 R FHHET 9 5 10 6 8
4610 L+ —ZEHT 10 6 14 17 8
4620 BREE+ — ZBHT 15 10 15 15 15
9999 AERXET 72 53 78 83 75
5010 REF0 B R 3 6 6 5 2
5020 AEFNBAET 4 4 6 8 8
5030 REF0E{—HT 6 9 5 5 7
9999 BRI X 5 13 19 17 18 17
5510 ph R ET 5 2 3 8 1
5520 = Hh BT 11 8 11 9 6
5530 Fich=yi) 11 9 3 6 3
5540 R 3 3 3 7 1
5550 ERHET 1 0 0 1 1
9999 =i X E 31 22 20 31 12
6010 e BT /)N B 0 1 0 0 3
6020 [it] BT o 1 4 1 6 0
6030 I ET &)1 2 2 1 0 1
6040 B2 R AT 3 2 4 2 4
6050 JIIEHHETER 2 3 4 2 2
6060 JI| BB 78 3 2 2 1 0
9999 BEERRXET 11 14 12 11 10
6510 HZE A #EAET 0 0 1 0 2
6520 HZE A KT 2 3 0 0 0
6530 HEAFTHE 4 2 3 6 0
6540 HEALILTH 1 2 1 0 1
6550 BHEAM ZNET 2 3 2 2 0
6560 H&EAIEILHT 2 1 1 0 2
6570 HEAIEEHET 0 3 3 1 2
6580 HZEAEHRT 2 1 0 2 1
6590 HEARHE 0 2 0 0 0
6600 HZE A HHET 0 1 1 1 1
6610 HEA L TEET 1 2 1 1 0
6620 HEAHFHET 0 0 1 0 1
6630 H&EAT AT 1 1 3 0 1
6640 HZEA BT 0 0 1 2 0
6650 HZEAKHE 0 0 0 0 1
6660 HZ& A RHT 0 0 0 0 0
9999 BHEAKRRXE 15 21 18 15 12
7010 ZRIMOE 1 6 4 2 2
7020 Z RAKHT 3 0 4 5 6
7030 — RIRHAET 1 3 1 1 1
7040 ZRTKEFHT 3 5 1 2 3
7050 — REFHIGHET 0 1 1 3 2
9999 ZRERRE 8 15 11 13 14
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TEET (KF)a—K {TIRET (KF) 4 20 21 22 23 24
8011 IRAETFRERLY 1 2 1 2 2
8012 IRAET TR ER A 1 2 3 4 3
8013 IRAETFEER L 0 0 1 1 0
8021 IRAHET KLY 0 0 0 0 2
8022 IRAHETEKA 0 0 0 0 0
8023 IRAHET R KL 0 0 0 0 0
8031 IRAET R ALY 3 2 3 0 4
8032 IRAET RS 0 0 0 1 0
8033 IRAETR AL 0 1 0 1 0
8041 IRAETBHIFLY 0 0 1 0 2
8042 IRAHET 840% A 0 1 0 1 3
8043 IRARETESIR (X 0 1 0 0 0
8044 IRAHETBHIR(Z 0 0 0 1 0
8045 R A BT 84 (X 0 0 0 0 0
8050 IR AT SR A 2 0 1 2 0
8060 IR AT 5T %8 3 4 0 1 3
8070 IRABTER 1 0 3 0 1
8080 3 A< BT 8% 0 0 0 0 0
8090 IR AR ET i E 0 0 0 0 0
8100 IRAETH /R 0 0 0 0 0
8110 R ASHET )1 55 0 2 0 1 0
8120 IRABTER 2 1 0 1 0
8130 IRAETH L 2 1 0 0 0
8140 IRAETEEERT 1 4 3 1 1
8150 IRAETEFEERL 0 3 1 2 3
9999 IR X ET 16 24 17 19 24
9010 FTHIAEH 4 9 6 11 10
9020 FTHEEA 10 6 3 8 3
9030 FTH#HEH 20 15 15 12 10
9040 FTHEHESE 22 21 18 19 27
9999 FTHREE 56 51 42 50 50
9110 EETTAE 11 12 5 11 6
9120 EETE & 5 6 8 2 2
9130 FEHHE 4 4 3 2 1
9140 SBEET T 15 9 4 10 4
9150 SERT L &5 8 10 4 13 5
9160 SRETERAT 16 7 8 12 13
9170 fRETANH 11 16 10 17 13
9180 TRETER 7 12 6 8 8
9190 fRETZ O 7 5 1 9 1
9200 SR Er I 1 3 5 5 5
9210 BEETEH 12 3 10 6 10
9220 RETH 19 7 7 5 8
9230 SEET B M 14 11 17 7 12
9240 SEETIE R 8 13 6 12 3
9250 SEETAL Frith 20 10 10 17 14
9999 BERXET 158 128 104 136 105
9310 B [SHET X 5 1 3 3 2
9320 HIGHATAL 5 4 5 2 4
9330 HSET/NE 1 1 1 0 2
9340 HIGETE 16 6 9 5 6
9999 RFRRXE 27 12 18 10 14
9410 RETTE 4 4 6 5 4
9420 SRETHAE 3 2 0 3 2
9430 RETER 3 1 1 2 0
9440 RETAEF 0 0 0 0 0
9450 SRETHER 0 0 0 0 0
9460 RETCHE 0 0 0 0 0
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TERET (K) a—F {TIXHET (K5F) & 20 21 22 23 24 25 26 27 28 29

9470 RETEXR 0 0 0 0 0 0 0 0 0 0
9480 RETHER 3 1 0 1 1 0 0 0 0 1
9999 REREXE 13 8 7 11 7 11 12 6 13 15

99999 &&t 1197 1156 1079 1111 1049 1025 1107 1128 1155 1254
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TRET (RF)a—F {TEHET (KF) & 30 31 32 33 34
10 HiET 2 4 2 6 3
20 Jidud:ing 8 3 2 1 3
30 BT 3 4 5 1 2
40 LHT 4 0 4 1 1
50 AET—TH 7 6 3 7 3
60 ABTZTH 5 5 6 7 6
70 ABT=TH 5 4 6 5 5
80 KA ST oA T 2 0 0 1 0
90 PR T IR AT 3 5 2 7 3
100 Jt D ALET 1 5 1 1 1
110 FATHT 26 28 20 26 33
120 AT AHT 2 3 7 4 6
130 ] 4 4 9 6 7
140 £ [ BT 1 0 0 0 0
150 1 FFrHET 18 12 11 12 8
9999 KIEHRXET 91 83 78 85 81
510 ABRTEMTH 3 11 12 4 6
520 HEEERT 5 5 1 4 12
530 J\TEHET 5 5 5 5 5
540 18 EHT 7 9 5 5 9
550 Frith T 3 10 6 5 6
560 = ZMT 3 0 1 1 3
570 EERT 0 0 0 0 1
580 FEAET 3 3 4 2 2
590 HEET 1 0 1 0 0
600 RET 13 11 12 19 11
610 HRET 1 1 1 2 4
620 HEET—TH 0 0 0 0 0
9999 J\REXET 44 55 48 47 59
1010 BRHT 3 3 6 7 6
1020 AT 6 16 4 13 10
1030 mh FET 6 8 5 11 4
1040 B A ET 15 17 15 24 18
1050 K AT 16 17 18 13 11
1060 F_EHT 13 14 17 9 17
1070 IR ET 22 27 11 16 15
1080 EHHET 12 1 14 12 10
1090 HEHRT 11 16 10 12 10
1100 L+ BEHRT 9 12 15 15 15
1110 f21EHT 2 5 4 6 3
1120 t21F JTHT 2 1 0 0 0
1130 + 0T 0 1 1 1 1
1140 FXRET 0 0 0 1 0
1150 FRET—TH 3 5 6 5 7
1160 FEET=TH 4 1 2 3 5
1170 s 7KHET 3 6 4 6 5
1180 EEEALHT 1 2 5 4 4
1190 1 F AHET 6 5 6 4 2
1200 KFE—TH 2 2 3 2 3
1210 KFEEIZTH 4 0 2 3 2
1220 FTHT 1 0 5 7 0
1230 fxHET 2 2 0 5 2
1240 = EHT 5 4 2 0 3
1250 TR ET 3 0 2 2 6
1260 B3 E 1 1 1 0 0
1270 EHEET 3 2 2 5 4
1280 PRAEHT 3 7 4 1 2
1290 SRET 4 4 5 3 3
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TRET(KF)a—F {TEHET (KF) 4 30 31 32 33 3 35 36 37 38 39
1300 4 ZEHT 2 1 4 2 4 2 2 5 1 3
1310 RIGHT 0 0 0 0 0 0 1 2 0 1
9999 AR XEE 164 190 173 192 172 166 176 192 194 163
1510 HED_E BT 12 5 16 11 6 16 22 20 25 18
1520 HEAIN T BT 9 12 10 12 12 15 13 21 24 16
1530 HEHI0 ST HT 9 5 6 5 4 4 7 7 9 5
1540 ReFHT 4 7 8 10 3 10 11 14 11 11
9999 HERNAR: X 5T 34 29 40 38 25 45 53 62 69 50
2010 EERET 3 1 4 9 9 3 8 2 15 3
2020 % E7aHET 8 9 8 11 12 3 9 4 8 13
2030 ADET 0 0 0 0 0 2 0 0 0 0
2040 LBET—TH 6 5 4 3 4 2 2 1 4 1
2050 WET—TH 2 7 3 4 5 5 4 4 4 3
2060 ¥a FEET 2 0 1 1 1 1 2 1 3 1
2070 FET—TH 5 7 7 3 9 2 7 7 4 2
2080 FRETZTH 2 3 3 5 3 3 6 9 4 0
2090 iR AT 37 35 29 34 46 54 34 27 36 40
2100 ==bdi5) 6 9 4 17 9 12 7 1 9 5
2110 HEWNETET—T B 1 7 4 1 1 2 5 5 11 5
2120 HEWNFTET T B 8 0 5 6 4 3 10 7 9 8
9999 ZERRXET 80 83 72 94 103 92 94 78 107 81
2510 N 45 58 45 43 65 57 59 76 63 62
2520 sk BeET 27 31 45 37 52 35 35 50 42 44
2530 =/NEHET 7 9 6 7 10 4 7 7 7 11
2540 FHiGHT 6 3 4 4 7 8 11 9 7 8
2550 SPET 4 6 5 5 8 4 5 3 3 5
2560 = EfT 19 25 20 28 31 18 18 14 31 23
2570 REHRT 3 2 1 2 0 4 1 6 5 3
9999 WERXET 111 134 126 126 173 130 136 165 158 156
3010 RHTHET 20 20 13 20 20 20 31 35 23 25
3020 EiTHT 26 28 18 25 17 19 16 20 29 27
3030 L E7HT 16 18 14 24 24 17 17 25 19 27
3040 T _EET 3 2 2 4 0 1 0 3 4 3
3050 B ET 52 65 50 53 55 49 49 48 23 51
3060 HETHET 8 7 6 11 10 9 11 6 7 9
3070 T BN EET 8 9 4 11 17 7 7 9 8 14
3080 H hET 14 10 12 16 17 12 13 10 9 12
3090 Hh AT 11 6 9 9 12 16 17 12 7 10
3100 Hch e fT 17 23 19 16 18 10 14 10 16 10
3110 z2==bld: 1) 13 7 10 9 16 7 8 10 13 12
9999 INTFEREXET 188 195 157 198 206 167 183 188 158 200
3510 LR EHT 4 2 4 3 1 1 3 2 2 3
3520 Z R hHT 4 6 7 4 9 7 5 2 7 6
3530 ERTH 17 26 27 20 34 25 28 26 17 12
3540 Z= R AKHT 5 5 6 5 4 8 10 7 12 15
3550 A ETHET 11 14 7 17 13 15 15 16 14 30
3560 = FERHET 3 8 7 6 5 10 5 7 3 7
3570 = T AT 19 17 12 5 19 17 13 16 19 16
3580 | L FRET 13 11 9 7 6 15 15 10 8 16
3590 JERT 0 0 0 0 0 0 0 0 0 0
9999 =S HEKRXE 76 89 79 67 91 98 94 86 82 105
4010 1 AET 6 1 4 3 4 5 9 5 6 8
4020 {ESHT 0 1 3 2 1 1 1 1 1 1
4030 5ET 3 8 5 3 3 7 5 6 5 8
4040 = HEAET 10 5 3 1 5 3 3 2 9 2
4050 K SHET 8 13 5 11 10 14 6 10 11 8
4060 EZZ HHET 8 17 12 17 10 9 17 6 12 12
4070 dt R BT 3 7 2 4 4 2 2 3 7 1
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TEET (KF)a—K {TIRET (KF) 4 30 31 32 33 34
4080 = IHET 8 8 7 3 6
4090 AT 7 7 9 5 5
4100 I FOET 3 3 6 2 7
4110 Jt S F0ET 6 3 2 7 4
9999 £ XET 62 73 58 58 59
4510 BB — ZHT 7 11 12 11 22
4520 BREE — FHT 6 4 2 3 10
4530 EREE = KT 5 3 3 3 4
4540 ERZE P FHT 2 1 0 4 2
4550 BREE T T 1 2 4 2 3
4560 EREE N FEHT 3 1 1 1 2
4570 EREEHFHT 2 2 1 3 0
4580 AR )\ FEHT 3 0 2 3 3
4590 EREE N FEHT 2 2 4 3 7
4600 R FHHET 7 6 2 5 5
4610 L+ —ZEHT 6 7 8 5 3
4620 BREE+ — ZBHT 13 13 4 10 3
9999 AERXET 57 52 43 53 64
5010 REF0 B R 3 4 6 9 3
5020 AEFNBAET 4 1 3 5 3
5030 REF0 BT 8 4 8 3 8
9999 B XE 15 9 17 17 14
5510 b RET 4 3 4 3 6
5520 = Hh BT 10 14 10 13 14
5530 iRy 9 9 12 1 6
5540 =)L) 8 2 6 3 7
5550 ERHT 0 0 0 0 2
9999 =i X E 31 28 32 30 35
6010 e BT /)N B 4 0 2 2 0
6020 [it] BT o 1 4 4 3 2
6030 I ET &)1 0 1 0 3 1
6040 B 2= R HT 3 9 2 5 4
6050 JIIEHHETER 0 1 2 1 2
6060 JI| BB 78 0 4 5 3 2
9999 BEERRXET 8 19 15 17 11
6510 HZE A #EAET 0 1 1 0 1
6520 HZE A KT 4 5 3 6 3
6530 HEAFTHE 1 2 1 1 1
6540 H&EALLTHT 4 2 3 2 1
6550 BHEAM ZNET 0 1 2 0 5
6560 HEAGILHET 4 3 3 1 4
6570 HEAIEEHET 1 2 4 2 1
6580 H&AEHET 1 1 0 0 0
6590 HEARHE 2 0 0 0 1
6600 HZE A HHET 0 3 1 2 0
6610 HEA L TEET 0 2 0 0 2
6620 HEAHFHET 0 0 1 0 2
6630 H&EAT AT 1 0 0 1 0
6640 HZEA BT 1 0 0 0 1
6650 HEARHE 0 0 0 0 0
6660 HZ& A RHT 0 0 0 0 0
9999 BEAKRKXE 19 22 19 15 22
7010 ZRIMOE 6 2 2 0 3
7020 Z RAKHT 6 5 6 3 4
7030 — RIRHAET 2 0 1 0 2
7040 ZRTKEFHET 0 1 2 1 2
7050 — REFHIGHET 0 3 0 1 3
9999 —R&RREE 14 11 11 5 14
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TRET(KF)a—F {TEHET (KF) 4 30 31 32 33 3 35 36 37 38 39
8011 IRAETFRERLY 0 2 0 1 0 2 1 0 0 0
8012 IRABTEEERA 3 2 2 0 1 2 2 1 1 1
8013 PR A BT 558 (X 2 0 2 3 2 0 0 3 1 3
8021 IRAHET KLY 1 3 2 2 2 0 1 1 1 1
8022 IRARETIR KA 0 0 0 0 0 0 0 0 0 0
8023 IRAET K 0 0 0 0 0 0 0 0 0 0
8031 IRAET ALY 2 2 3 1 2 2 2 0 3 2
8032 IRARETHRAA 0 0 1 0 0 0 0 0 0 0
8033 IRARET R A (X 0 0 0 0 1 0 0 0 1 2
8041 IRAETESIFLY 1 2 1 0 1 2 2 0 0 1
8042 IRAETELIRA 2 0 0 0 0 0 0 1 0 0
8043 IRARETESIR (X 0 0 1 0 0 0 1 0 0 0
8044 IRAHETBHIR(Z 1 1 0 0 0 0 0 0 0 0
8045 IR AHET B851% 1 0 0 2 1 0 0 1 0 1
8050 IR AT SR A 6 1 1 2 3 2 2 8 4 4
8060 W N 1 1 1 1 4 2 0 1 1 0
8070 IRABTER 1 1 2 1 2 0 2 1 3 3
8080 NG E: S 0 1 0 0 1 1 0 0 1 0
8090 IR AR ET i E 0 1 1 0 3 1 2 0 1 2
8100 IRABTH /R 0 0 0 0 0 0 0 0 0 1
8110 R ASHET )1 55 0 0 0 0 0 1 1 0 0 1
8120 IRAETEEMS 1 0 1 2 1 1 3 0 0 1
8130 IRAETH L 1 0 0 0 1 0 2 0 1 0
8140 IRARTEERET 2 0 0 0 2 2 0 1 0 1
8150 IRABTRFERXL 0 2 1 2 1 0 1 1 0 1
9999 IR X ET 25 19 19 17 28 18 22 19 18 25
9010 FTHEHIREH 16 15 18 15 7 8 11 5 11 8
9020 FTHEEA 6 10 5 8 8 3 5 11 6 10
9030 FTH#H%EH 23 17 33 36 37 39 30 21 31 36
9040 FTHEHHERE 33 23 22 26 31 27 34 28 34 30
9999 FTHREE 78 65 78 8 83 77 8 65 82 84
9110 BETTHIE 10 8 10 10 9 8 16 5 8 19
9120 EETE & 5 2 5 1 6 8 3 5 7 6
9130 HEETHE 3 0 3 5 4 2 6 2 4 0
9140 SBEET T 7 7 7 9 8 10 10 14 6 7
9150 SERT E&5 8 10 12 20 13 12 12 9 10 14
9160 SRETERAT 16 14 13 17 11 16 11 19 22 18
9170 SERTNHE 20 14 21 24 28 18 30 23 22 24
9180 TRETER 12 12 9 9 8 14 14 19 9 7
9190 fRETZ O 4 6 5 5 5 7 9 7 14 4
9200 SR HT FF 0% 2 3 5 1 5 6 4 0 5 4
9210 RETEH 9 6 9 11 9 8 7 8 10 11
9220 SEMT R 13 13 13 8 5 13 10 15 17 15
9230 SEETEM 11 13 16 9 6 19 16 27 15 15
9240 TRHETIR R 6 4 8 6 5 5 7 6 8 7
9250 SEETAL Frith 18 13 14 18 27 19 16 19 9 13
9999 ERXE 144 125 150 153 149 165 171 178 166 164
9310 B SHET A% 3 3 1 1 1 2 6 6 3 4
9320 HIGHATAL 5 1 3 4 4 5 4 2 5 0
9330 R I5ET/INE 2 3 1 0 3 3 3 1 1 1
9340 HIGETE 5 5 3 7 4 4 9 5 9 4
9999 R X 15 12 8 12 12 14 22 14 18 9
9410 RETTE 5 6 10 9 7 4 5 13 3 15
9420 RETHAE 1 2 1 3 4 5 3 1 2 2
9430 RETER 0 1 1 2 2 0 0 0 2 1
9440 RETAGEF 0 0 0 0 0 0 0 0 0 0
9450 RETHER 0 0 0 0 1 0 0 1 0 0
9460 REM{—HE 0 0 0 0 0 1 0 1 0 0
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TERET (K) a—F {TIXHET (K5F) & 30 31 32 33 34 35 36 37 38 39

9470 RETEXR 0 0 0 0 0 0 1 0 0 0
9480 RETHER 1 1 1 1 1 2 1 0 1 0
9999 RIRXET 7 10 13 15 15 12 10 16 8 18

99999 &&t 1263 1303 1236 1324 1416 1343 1378 1428 1457 1455



XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TEET (KF)a—K {TIRET (KF) 4 40 41 42 43 44 45 46 4T 48 49
10 H BT 5 3 4 3 1 6 5 5 1 4
20 Jidud:ing 4 2 3 3 5 6 4 2 4 2
30 AT 4 5 5 2 2 6 7 3 9 3
40 LSHT 3 4 6 3 3 3 1 2 4 0
50 AET—TH 3 8 8 6 8 7 12 8 6 4
60 ABTZTH 1 5 5 2 4 6 2 9 4 3
70 ABT=TH 7 6 5 13 10 6 15 9 15 6
80 ¥ ST 3 T 0 1 0 1 0 2 2 0 1 1
90 PR T IR AT 4 4 8 1 3 2 4 3 4 5
100 B dOF ) 2 6 3 4 2 6 7 6 3 4
110 FATHT 27 32 38 38 42 39 31 33 53 33
120 FAT ASHET 5 6 12 8 6 10 3 2 3 3
130 TEFET 12 7 11 14 11 10 10 8 10 6
140 £ [] T 0 0 0 1 1 0 0 0 0 0
150 EF T 16 9 11 9 15 10 8 12 8 11
9999 RIEHRXET 93 98 119 108 113 119 111 102 125 85
510 ABTETH 11 8 11 8 6 8 11 9 5 6
520 HEEE AT 8 5 10 5 4 2 4 2 2 3
530 J\TEHET 7 5 6 2 6 6 1 6 2 7
540 18 EHT 10 13 10 20 16 15 12 1 21 16
550 Frith T 8 14 9 14 11 17 10 13 18 4
560 = ZHET 4 3 0 2 0 2 3 1 2 4
570 EERT 1 2 1 5 3 0 1 2 1 0
580 FrEAET 3 5 4 2 5 2 0 2 0 3
590 7 EET 0 1 0 1 0 1 2 1 2 1
600 FRNET 9 17 15 12 20 15 14 19 19 18
610 R ET 5 2 2 3 5 2 3 5 2 1
620 HEET—TH 0 0 0 0 0 0 0 0 0 0
9999 I\ XET 66 75 68 74 76 70 61 71 74 63
1010 B HET 4 3 5 9 4 3 5 12 7 4
1020 L+ AHET 8 8 6 9 7 9 5 9 5 8
1030 i 5 ET 8 8 7 12 4 9 1 8 5 9
1040 Fichay:ii] 7 13 14 13 8 8 8 11 8 13
1050 R AHBT 12 12 22 19 12 18 11 25 9 18
1060 F_EHT 9 13 12 11 14 17 17 19 14 15
1070 IR ET 17 17 11 16 12 16 15 18 14 24
1080 EHHET 8 6 7 6 17 9 13 23 11 11
1090 HEHRT 13 26 12 19 11 20 24 16 16 15
1100 L BEHRT 20 14 8 17 12 15 13 8 9 16
1110 f21EHT 3 5 2 2 5 7 4 7 7 3
1120 t21F JTHT 0 0 1 2 2 0 1 2 0 1
1130 + &<l 2 0 0 0 2 0 0 0 1 0
1140 FXRET 0 0 0 0 1 1 1 1 0 0
1150 FRET—TH 3 2 7 2 3 6 3 6 0 9
1160 FEET=TH 2 5 3 9 4 6 8 8 6 7
1170 s 7KHET 4 7 1 6 0 7 6 6 7 4
1180 EEAHET 1 6 5 7 5 5 11 10 7 6
1190 ¥ F AHT 4 4 8 3 3 5 4 3 4 10
1200 KFE—TH 2 5 2 4 4 3 5 2 6 4
1210 KFEEIZTH 9 1 8 4 2 2 3 1 2 7
1220 T 4 3 5 7 4 4 3 4 2 4
1230 #XET 4 4 5 2 4 1 4 4 5 3
1240 = EHT 3 4 5 3 2 3 3 3 2 3
1250 TEEET 4 0 5 4 6 2 3 7 6 3
1260 B & 0 1 1 0 1 2 1 2 3 0
1270 HEEMET 8 4 3 1 6 3 3 2 3 2
1280 PRAEHT 6 1 4 6 10 3 2 5 7 1
1290 SRAT 4 6 4 6 3 6 4 5 6 1
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

ABET(RF) a—F {TIRET(KEFE)® 40 41 42 43 44 45 46

1300 A ZEHT 4 1 0 1 1 1 1
1310 RILHET 4 0 3 0 1 2 0
9999 AR XEE 177 179 176 200 170 193 182
1510 HEHIN L BT 18 17 20 21 20 18 21
1520 HEHN T BT 24 21 16 17 25 19 15
1530 HEHI0 ST HT 10 11 6 12 10 4 3
1540 ReFHT 12 20 13 18 12 11 13
9999 HERNAR: X 5T 64 69 55 68 67 52 52
2010 EX-L L 6 7 4 3 3 5 7
2020 = EFhHET 9 12 10 12 9 7 8
2030 L0ET 0 1 1 0 0 0 0
2040 HET—TH 5 6 5 6 3 8 8
2050 HMBET—TH 5 3 5 6 3 6 8
2060 ¥ i BT 2 1 0 1 2 0 1
2070 FET—TH 2 2 4 6 7 7 6
2080 FRETZTH 5 3 5 5 4 4 9
2090 iR AT 44 44 48 41 39 50 32
2100 Fr AL BT 12 7 5 4 7 6 8
2110 HEWNETET—T B 10 5 6 4 4 5 4
2120 HEWNFTET T B 7 2 7 6 5 11 6
9999 ZEREXE 107 93 100 94 86 109 97
2510 N 84 76 83 53 70 63 49
2520 K BEHT 45 31 36 42 39 33 27
2530 =/NEHET 5 13 7 12 15 11 16
2540 FHi5HET 8 7 9 9 9 13 9
2550 SPET 5 6 5 4 5 7 1
2560 = BT 29 29 22 27 25 25 24
2570 N1 3 2 2 0 0 1 2
9999 WERXET 179 164 164 147 163 153 128
3010 A FFHET 25 22 3 33 19 19 32
3020 EiTHT 27 28 26 36 32 24 27
3030 L EFHT 22 19 26 26 38 29 25
3040 T _EET 3 4 4 3 1 9 5
3050 R ET 60 58 56 52 50 53 46
3060 HETHT 10 6 6 12 10 11 10
3070 T BN EET 12 13 13 11 11 8 13
3080 FH Fr ET 18 13 15 16 11 14 7
3090 FH B HT 16 10 10 15 11 11 12
3100 Hch e fT 9 14 15 18 13 20 10
3110 sZl==P|d:i1) 7 16 12 15 4 8 9
9999 INTFEREXET 209 203 218 237 200 206 196
3510 LR EHT 5 4 4 8 1 3 3
3520 SR 9 11 15 9 9 11 7
3530 E R TH 25 23 26 24 34 34 27
3540 Z= R KHT 7 8 13 13 8 10 11
3550 A ETHET 20 19 19 16 18 14 18
3560 = FERHET 2 9 9 11 8 4 8
3570 = T FHET 17 18 15 21 24 20 25
3580 S LFrET 27 17 11 15 15 10 12
3590 JERT 0 1 0 0 0 0 0
9999 =S HEKRXE 112 110 112 117 117 106 111
4010 1| QBT 7 13 6 8 11 7 7
4020 {E&HT 1 1 2 3 1 7 2
4030 5ET 10 6 6 9 8 5 7
4040 = HEAET 1 7 7 5 3 6 9
4050 K SHET 9 12 10 16 6 11 12
4060 EZZ HHET 8 9 9 4 10 7 10
4070 Jt [ BT 5 6 2 6 5 2 6
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

THET(A)a—F (TIRET(KF)4 40 41 42 43 44 45 46 47 48 49
4080 =TiSAMT 6 4 6 4 5 12 4 3 4 4
4090 SREAT 10 9 9 5 6 8 7 5 10 7
4100 Rl 3 2 3 2 1 0 2 1 5 3
4110 Jt FFOET 3 3 4 1 2 5 4 3 2 5
9999 £ XET 63 72 64 63 58 70 70 66 75 64
4510 R —FHT 17 10 18 17 12 12 20 10 22 20
4520 EREE — FMET 2 3 5 8 4 3 0 10 2 7
4530 BREE = FHT 2 3 3 1 2 1 3 5 5 3
4540 ERZE P FHT 2 4 4 2 4 0 3 3 4 3
4550 BREE T T 1 1 1 5 5 1 3 3 3 3
4560 EREE N FEHT 0 0 0 0 1 0 0 3 1 0
4570 EREEHFHT 6 6 2 3 3 3 5 3 7 2
4580 AR )\ FEHT 6 1 2 0 0 1 2 1 0 0
4590 EREE N FEHT 5 1 4 2 0 5 1 3 2 1
4600 EREE+FEHT 6 3 1 3 1 1 4 3 4 2
4610 L+ —ZEHT 5 4 4 4 5 2 3 3 2 0
4620 BREE+ — ZBHT 5 4 7 3 5 4 8 3 3 5
9999 AERXET 57 40 51 48 42 33 52 50 55 46
5010 REF0 B HEET 2 0 6 7 3 2 6 5 9 4
5020 AZ N ER {4 BT 3 7 4 4 4 5 6 3 2 4
5030 REF0 BT 4 8 3 1 6 5 1 6 5 3
9999 B XE 9 15 13 12 13 12 13 14 16 11
5510 s B ET 4 2 9 4 8 9 4 6 9 3
5520 = Hh AT 28 22 16 20 20 8 12 6 14 13
5530 =y 13 12 13 15 12 18 12 11 10 13
5540 R 6 4 7 6 1 4 9 7 9 2
5550 BT 1 0 2 0 0 0 2 0 0 0
9999 =i X E 52 40 47 45 41 39 39 30 42 31
6010 [ BT /NER 0 2 4 4 2 1 3 1 5 2
6020 [it] BT o 3 0 2 2 0 2 2 1 1 2
6030 I ET &)1 1 3 1 0 2 1 1 2 2 4
6040 B2 R AT 7 3 0 8 4 4 4 5 5 4
6050 JIIEHHETER 1 1 2 3 5 7 4 6 6 4
6060 JI| BB 78 2 2 1 4 4 5 3 2 3 1
9999 FEERXE 14 11 10 21 17 20 17 171 22 17
6510 HZE A #EAET 0 1 0 0 1 0 0 1 0 0
6520 HZE A KT 6 2 7 2 8 1 1 5 3 5
6530 HEAFTHE 0 3 4 1 0 5 3 3 4 2
6540 HEAILTH 1 6 4 4 2 5 3 3 5 4
6550 HEAM 2 NET 3 3 2 2 2 3 2 1 3 2
6560 H&EAIEILHT 3 1 1 2 2 2 2 3 3 2
6570 HEAIEEHET 5 0 3 2 1 2 5 5 2 1
6580 H&AEHET 0 2 0 0 2 0 0 2 0 0
6590 HZEARHE 1 1 0 0 2 0 1 2 0 1
6600 HZE A HHET 2 0 1 1 0 3 3 2 2 1
6610 BE A LTEAT 1 0 0 1 0 0 2 2 0 1
6620 HZEA D TEHET 1 0 1 0 1 1 1 1 1 1
6630 HEA T AT 0 1 1 2 0 1 1 2 2 4
6640 H&E A E#SHT 0 0 1 1 0 1 0 0 1 0
6650 HZ&EARHE 0 0 0 0 0 0 0 0 0 0
6660 HZ& A RHT 0 0 0 0 0 0 0 0 0 0
9999 BEAKRKXE 23 20 25 18 21 24 24 32 26 24
7010 ZRMOmT 2 3 1 1 1 3 2 0 3 7
7020 Z RARHET 9 6 12 10 4 8 2 5 7 4
7030 Z RIRIRET 0 2 2 1 1 1 4 2 0 0
7040 ZRTKEFHT 8 3 0 5 3 6 7 5 6 3
7050 — RE S HET 4 2 3 4 2 2 2 1 1 0
9999 ZR&REXE 23 16 18 21 11 20 17 13 171 14
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

AT (RF) a—F {TIRET(KF)® 40 41 42 43 44
8011 IRAETFRERLY 1 1 0 0 1
8012 IRAETFEERA 2 1 1 1 3
8013 PR A BT 558 (X 1 2 0 0 2
8021 IRAHET KLY 2 0 1 1 0
8022 IRAHETEKA 0 0 0 0 0
8023 IRAHET R KL 0 0 0 0 0
8031 IRAETR AL 3 3 1 0 4
8032 IRAET RS 1 0 0 1 1
8033 IRAETR AL 1 1 1 0 1
8041 IRAETESIFLY 0 0 0 1 0
8042 IRAHET 840% A 0 0 0 0 1
8043 IR AET B5IR (& 0 0 0 0 0
8044 IRAHETBHIR(Z 0 1 0 0 2
8045 IR AHET B851% 1 1 2 0 2
8050 IR AT SR A 1 3 1 4 2
8060 IR AT 5T %8 3 5 2 1 2
8070 IRABTER 1 2 2 0 3
8080 3 A< BT 8% 0 0 1 0 1
8090 IR AR ET i E 1 0 0 1 0
8100 IRAETH /R 0 0 0 0 0
8110 IR AHT 1] 5% 0 1 0 0 1
8120 IRABTER 1 0 1 1 0
8130 IRAETH L 0 0 3 1 1
8140 IRAETEEERT 3 2 0 1 2
8150 IRAETEFERL 1 1 1 0 2
9999 IRARRXET 23 24 17 13 31
9010 FTHIAEH 12 12 16 12 14
9020 FTHEEA 5 12 9 15 4
9030 FTH#HEH 3 39 32 37 34
9040 FTHEHESE 29 38 40 33 44
9999 FTHREE 80 101 97 97 96
9110 EETTAE 11 15 21 7 14
9120 EETE & 7 9 7 4 4
9130 HEETHE 3 3 3 5 2
9140 SBEET T 10 14 13 11 7
9150 SEET 45 10 8 15 14 14
9160 SRETERAT 19 25 14 19 20
9170 SERTNHE 25 22 30 16 26
9180 TRETER 8 17 15 12 9
9190 RETZ O 4 4 7 4 5
9200 SR Er I 6 6 6 3 5
9210 BEETEH 11 13 8 10 14
9220 SEET H 16 13 16 15 15
9230 SEET BM 8 12 14 18 22
9240 SEETIE R 6 6 4 5 5
9250 SEETAL Frith 20 14 10 17 8
9999 BERXET 164 181 183 160 170
9310 B [SHET X 0 5 3 2 9
9320 R [5ZHETIL 6 6 7 7 5
9330 HSET/NE 3 4 2 3 2
9340 R[ZHTE 7 10 5 5 6
9999 HERXET 16 25 17 11 22
9410 RETTE 9 11 3 2 7
9420 SRETHAE 2 4 3 5 2
9430 RETER 1 3 5 0 3
9440 RETAEF 0 0 0 0 0
9450 SRETHER 1 0 1 0 1
9460 RETCHE 1 2 0 1 0
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TEET(AF)a—F {TIHET (KF) 4 40 41 42 43 44 45 46 47 48 49

9470 RETEXR 0 0 0 0 0 0 0 0 0 0
9480 RETHER 2 1 1 3 3 2 1 2 1 3
9999 REREXE 16 21 13 11 16 15 15 17 21 24

99999 &&t 1547 15587 1567 1571 15830 1522 1488 1534 1597 1492
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AT (R a—F {TEET (K=F) &

10
20
30
40
50
60
70
80
90
100
110
120
130
140
150
9999
510
520
530
540
550
560
570
580
590
600
610
620
9999
1010
1020
1030
1040
1050
1060
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XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

THET (k) 3—F {TIERHET (KF) 4 50 51 52 53 54 55 56 57 58 59

1300 4 ZEHT 5 4 4 3 2 5 4 4 0 1
1310 RILHET 2 2 2 4 7 2 4 4 5 0
9999 AR XEE 151 214 201 195 229 186 226 207 190 199
1510 HED_E BT 23 24 24 13 16 14 20 23 29 14
1520 HEH T HT 18 17 10 14 21 23 24 11 17 23
1530 HE 490 5T BT 3 14 10 8 6 8 8 16 13 12
1540 ReFHT 12 9 17 13 7 18 18 11 27 13
9999 HERNAR: X 5T 56 64 61 48 50 63 70 67 86 62
2010 ZBEHHET 3 9 5 1 4 4 6 4 1 5
2020 % E7aHET 11 6 6 7 11 7 5 11 5 8
2030 L0ET 0 0 0 1 0 0 0 1 2 4
2040 LBET—TH 5 13 5 5 3 6 3 5 6 7
2050 HMBET—TH 4 8 3 1 2 4 4 3 6 3
2060 ¥ i BT 1 1 0 1 2 0 2 2 2 2
2070 FET—TH 5 7 8 2 3 11 7 10 6 6
2080 FRETZTH 2 3 6 4 6 8 3 4 2 8
2090 iR AT 30 43 40 33 49 51 40 44 47 64
2100 Fr b BT 6 3 7 4 7 3 4 9 4 2
2110 HEWNETET—T B 11 9 9 12 5 7 5 9 4 7
2120 HEWNFTET T B 7 9 7 10 6 2 4 12 11 9
9999 ZERRXET 85 111 96 81 98 103 83 114 96 125
2510 N 35 54 43 49 56 60 53 59 54 46
2520 K BEHT 3 36 38 33 33 32 39 35 38 45
2530 =/NEHET 12 5 10 6 16 11 13 9 7 7
2540 FHi5HT 13 11 9 16 15 13 13 10 17 14
2550 SPET 8 8 4 5 4 4 9 7 9 3
2560 = EfT 30 29 21 18 15 24 17 39 21 28
2570 KEHRT 0 1 1 1 0 2 3 2 2 2
9999 WERXET 134 144 126 128 139 146 147 161 148 145
3010 RHTHET 22 24 22 31 24 23 23 26 18 27
3020 EiTHT 35 24 25 21 23 17 22 22 19 18
3030 L E7HT 25 27 26 18 20 20 22 14 19 25
3040 T _EET 2 1 6 2 4 2 5 5 4 2
3050 BN G BT 52 61 37 47 43 67 51 46 52 55
3060 HETHET 12 14 11 17 12 15 16 18 11 8
3070 T BN EET 12 14 10 8 7 9 19 14 10 18
3080 H hET 8 7 9 10 6 9 9 7 9 6
3090 Hh AT 71 5 7 13 10 7 9 5 12
3100 Hch e fT 11 12 13 15 12 13 12 15 8 14
3110 z2==bld: 1) 12 16 11 13 13 17 15 21 10 9
9999 INTFEREXET 198 211 175 189 177 202 201 197 165 194
3510 LR EHT 4 6 13 8 4 9 8 8 3 5
3520 SR 12 6 8 8 8 7 12 8 9 11
3530 ERTH 18 26 24 31 3 20 24 35 29 33
3540 Z= R KHT 6 17 8 9 17 15 10 9 6 16
3550 AEFHT 29 15 19 18 20 29 20 28 25 19
3560 ST RHET 9 1 3 6 9 16 7 6 9 11
3570 = T AT 15 13 21 7 20 20 17 27 21 30
3580 | L FRET 11 13 17 6 18 9 15 14 19 15
3590 JERT 0 0 1 0 0 1 0 0 0 0
9999 =S HEKRXE 104 97 114 93 126 126 113 135 121 140
4010 1| QBT 11 1 6 8 6 6 5 8 10 9
4020 {E&HT 2 3 1 0 4 2 0 1 2 3
4030 5ET 4 8 7 7 7 6 7 6 6 8
4040 = HEAET 7 5 5 8 1 9 5 3 3 4
4050 K EHBT 6 10 11 18 16 14 13 12 14 12
4060 ER 4 HHET 9 8 5 5 8 3 8 8 7 6
4070 dt R BT 1 6 7 8 9 6 3 5 11 6
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XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TIRET (RF)a—F {TEHET (KF) & 50 51 52 53 54 55 56 57 58 59
8011 IRAETFRERLY 4 2 2 3 1 3 3 0 3 2
8012 IRAETFEERA 8 4 5 6 5 8 6 5 2 7
8013 PR A BT 558 (X 1 1 0 2 2 0 6 4 2 1
8021 IRAET KLY 0 2 2 1 3 1 2 3 3 2
8022 IRARETIR KA 0 0 0 0 0 0 0 1 0 0
8023 IRAET K 0 0 0 0 0 0 0 0 0 0
8031 IRAETR AL 4 7 1 3 7 3 1 5 7 6
8032 IRAET RS 0 0 0 0 0 0 2 0 1 1
8033 IRARET R A (X 0 0 0 0 0 0 3 0 1 0
8041 IRAETESIFLY 0 1 0 1 1 1 2 3 0 4
8042 IRAETELIRA 0 1 1 2 3 2 2 1 4 0
8043 IR AT IR (X 1 0 1 0 1 0 1 0 0 1
8044 IRAHETBHIR(Z 0 0 0 1 0 2 3 2 4 1
8045 IR AHET B851% 0 0 1 3 0 4 1 0 5 0
8050 IR AT SR A 2 8 2 3 2 3 7 4 7 3
8060 IR AT 5T %8 6 2 3 4 4 8 8 6 4 5
8070 IRARETER 2 2 3 1 4 2 6 3 3 4
8080 3 A< BT 8% 1 0 0 1 2 3 5 2 5 5
8090 IR AR ET i E 3 1 1 0 0 1 2 3 0 1
8100 IRABTH /R 1 0 0 0 0 1 0 0 0 0
8110 R ASHET )1 55 0 1 0 1 1 3 2 0 2 3
8120 IR AR ETEEMS 1 4 1 2 1 3 1 3 3 1
8130 IRAETH L 2 4 1 2 5 4 2 2 5 2
8140 IRAETEEET 2 4 5 4 4 3 3 4 2 4
8150 IRAETEFERL 3 2 2 4 2 4 2 2 5 6
9999 IR X ET 41 46 31 44 48 59 70 53 68 59
9010 FTHIAEH 16 23 14 17 20 9 11 22 25 14
9020 FTHEER 6 10 14 11 7 13 5 15 6 9
9030 FTH#H%EH 20 28 34 26 28 29 31 29 32 33
9040 FTHEHESE 30 3 43 31 33 39 45 43 36 37
9999 FTHREE 72 97 105 85 8 90 92 109 99 93
9110 BETTHIE 14 6 19 18 14 10 9 7 10 16
9120 SERTHIE 11 8 6 6 5 3 3 7 5 2
9130 SREThE 6 2 1 8 5 7 3 8 6 5
9140 SBEET T 8 14 9 12 16 17 16 11 24 16
9150 fRET E5R 9 12 9 9 19 18 19 11 9 12
9160 SRETERAT 20 17 19 14 16 22 17 18 15 18
9170 SERTNHE 25 22 25 21 31 27 32 21 23 26
9180 TRETER 16 16 12 14 17 14 15 25 20 21
9190 fERTZ O 7 1 2 3 3 7 2 8 7 8
9200 SEETER IR 10 4 4 6 12 13 6 9 12 8
9210 RETEH 13 4 9 9 4 21 15 11 12 14
9220 SEMT R 8 18 18 19 13 14 14 14 14 18
9230 SEETEM 16 14 19 16 19 23 24 24 20 16
9240 SERTIE R 6 9 11 14 4 7 13 8 16 4
9250 SEETAL Frith 8 12 20 18 11 16 13 13 22 20
9999 ERXE 177 159 183 187 189 219 201 195 215 204
9310 B SHET A% 6 4 2 9 10 13 5 7 10 7
9320 HGHETIE 5 8 8 9 8 4 9 9 11 7
9330 HSET/NE 5 4 6 2 6 4 9 8 6 8
9340 HIGHTE 12 23 10 13 15 9 6 12 9 15
9999 HIGHREXE 26 39 26 33 39 30 29 36 36 37
9410 RETTE 9 17 9 9 11 12 9 13 19 13
9420 RETHHE 5 4 6 5 5 8 4 4 10 11
9430 RETER 3 2 4 3 5 3 6 3 4 7
9440 RETAEF 1 0 0 2 1 0 0 0 1 1
9450 RETHER 0 2 0 2 0 0 0 2 0 1
9460 REM{—HE 2 0 0 0 1 2 3 0 1 2
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(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TEET (KF)a—K {TIRET (KF) 4 50 51 52 53 54 55
9470 SRETEXR 0 0 1 0 0 1
9480 SRETHER 1 3 1 4 0 0
9999 RREXET 21 28 21 25 23 26
99999 &5t 1442 1629 1538 1527 1651 1674
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XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TEET (KF)a—K {TIRET (KF) 4 60 61 62 63 64 65 66 67 68
10 H BT 2 3 7 2 10 6 6 6 3
20 Jidud:ing 4 5 7 3 6 6 8 2 3
30 AT 6 1 9 7 8 6 10 11 9
40 LSHT 4 5 5 5 1 6 4 7 6
50 AET—TH 5 9 7 1 13 10 17 11 18
60 ABTZTH 4 4 4 8 3 8 2 14 5
70 ABT=TH 5 6 8 10 4 12 12 10 12
80 ¥ ST 3 T 4 2 2 0 2 1 2 2 0
90 PR T IR AT 8 5 7 2 7 12 9 12
100 B dOF ) 5 7 5 3 4 4 4 4 4
110 FATHT 38 34 30 38 30 27 46 35 27
120 FAT ASHET 6 5 3 10 6 7 6 4 8
130 FEFET 12 7 4 13 12 16 14 16 10
140 £ [] T 0 0 0 0 0 0 0 0 0
150 EF T 10 5 7 8 15 9 9 4 12
9999 RIERXET 113 98 105 120 121 122 152 135 129
510 ABTETH 18 15 12 14 22 16 16 8 18
520 HEEE AT 1 1 3 1 4 6 2 5 7
530 J\WBHET 9 5 9 3 10 10 4 13 5
540 1EE AT 9 11 10 14 11 13 10 15 24
550 Frith T 11 14 13 6 16 6 11 14 12
560 = ZMT 4 2 3 3 1 1 1 2 1
570 EEET 4 1 6 1 4 2 2 4 5
580 FrEAET 2 5 2 2 9 8 2 4 1
590 HEET 1 0 1 3 4 2 5 3 2
600 RET 32 30 22 29 28 26 21 22 14
610 R ET 9 5 7 6 7 6 10 8 3
620 HEET—TH 0 0 0 0 0 0 0 0 0
9999 J\RBREXET 100 89 88 82 116 96 84 98 92
1010 B HET 5 7 5 3 2 15 8 12 3
1020 AT 12 717 9 8 15 14 14 17
1030 i T 4 13 6 11 4 12 7 10 9
1040 B A ET 26 15 8 11 15 12 14 17 13
1050 R AHBT 22 18 9 18 16 16 20 26 15
1060 F_EHT 9 16 8 9 8 19 17 13 17
1070 IR ET 8 23 11 14 12 18 12 18 17
1080 & HHET 13 8 10 14 8 9 10 9 6
1090 HEHRT 16 21 23 30 28 20 25 21 13
1100 L AEHRT 11 18 22 18 10 22 17 20 23
1110 f21EHT 5 6 5 0 2 2 5 4 3
1120 t21F JTHT 1 3 4 4 0 5 4 2 3
1130 + &<l 0 2 1 1 0 1 3 4 2
1140 Fh R T 0 0 0 0 2 0 0 0 0
1150 FRET—TH 9 6 2 5 5 9 9 12 6
1160 FEET=TH 13 7 5 8 5 10 8 15 11
1170 s 7KHET 2 3 5 4 4 5 6 9 6
1180 EEAHET 4 6 5 5 6 8 11 5 4
1190 TEFAHT 8 2 5 8 8 3 11 12 5
1200 KFE—TH 3 4 3 8 3 4 5 3 6
1210 KFEEIZTH 7 3 2 5 6 10 8 9 8
1220 HT 7 4 3 4 5 3 2 4 10
1230 TR HET 5 3 7 5 2 3 12 5 6
1240 = EHT 5 5 0 2 4 1 4 7 1
1250 1EEET 5 7 4 1 5 5 3 2 9
1260 pR=E 3T ] 2 4 1 1 1 0 2 3 0
1270 EHEET 4 3 2 5 2 4 5 5 4
1280 PRAEHT 8 6 4 6 6 6 4 5 5
1290 SRAT 4 7 1 8 4 2 4 12 5

(2]

—_

w —_

Y
OPhWNO—~OO0OCQUOWJOIOOUONOGOGPR,WONOODMMOOIGWWRAMOO

—_ —_

—_

-~
O NN

—_ —_ e ot -
Ol O©OOC1T WO —

NOoOoOWwWoOoOhrwWWwbhbhhwdINIdIPoO—=0ODMNMNDN



XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TERET (K)a—F {TIRHT (K5F) & 60 61 62 63 64 65 66 67 68 69

1300 4 ZEHT 4 4 1 5 2 6 2 6 8 3
1310 RILHET 5 5 0 2 1 2 0 3 4 3
9999 AR XEE 227 236 179 224 184 247 252 287 239 208
1510 HED_E BT 19 21 26 18 14 32 27 24 25 21
1520 HEHN T BT 21 30 21 24 22 34 31 28 32 24
1530 HEHD TR 8 16 9 12 8 12 11 10 16 15
1540 KiEHT 19 20 24 20 20 21 19 22 21 19
9999 HERNAR: X 5T 67 87 80 74 64 99 8 8 94 79
2010 EX-L L 6 2 3 4 4 5 6 14 10 7
2020 = EFhHET 4 7 5 9 7 6 6 3 7 4
2030 L0ET 0 1 0 0 0 1 2 6 1 1
2040 LBET—TH 4 3 4 3 8 8 7 9 10 9
2050 HMBET—TH 7 6 5 9 5 10 8 4 5 13
2060 ¥g (AT 2 2 3 1 0 2 3 4 2 2
2070 FET—TH 9 7 6 7 9 10 11 10 4 8
2080 FRETZTH 6 4 5 8 5 6 8 11 10 8
2090 iR AT 56 60 62 65 67 54 94 55 80 59
2100 ==bdi5) 11 10 8 10 7 4 8 14 4 8
2110 HEWNETET—T B 6 8 7 11 10 12 4 14 6 9
2120 WEWFHET=TH 12 10 11 9 9 14 7 7 1 14
9999 ZEREXE 123 120 119 136 131 132 164 151 150 142
2510 FA W T 45 56 52 51 53 57 70 81 73 55
2520 K BEHT 34 31 41 33 38 42 47 40 40 31
2530 =/NEHET 11 15 11 18 11 10 13 12 16 8
2540 FHiGHT 10 9 15 23 22 11 22 17 23 21
2550 SPET 14 8 5 8 10 8 3 10 7 5
2560 = BT 25 36 29 26 29 33 37 44 36 35
2570 KEHRT 1 3 1 5 4 3 6 8 4 5
9999 WERXET 140 158 154 164 167 164 198 212 199 160
3010 RFTHET 21 29 25 29 42 34 37 40 35 28
3020 EiTHT 23 22 26 32 32 27 3 30 38 36
3030 L EFHT 17 22 23 14 25 21 14 29 27 19
3040 HES L ET 7 3 5 7 7 1 5 5 5 6
3050 R ET 53 65 49 56 46 67 65 69 57 59
3060 HETHET 12 18 10 17 15 171 21 18 18 17
3070 T BN EET 18 12 12 19 19 20 21 12 15 11
3080 H hET 8 11 8 7 9 14 11 16 9 7
3090 FH B HT 4 7 5 11 7 19 11 11 7 9
3100 Hch e fT 16 15 17 16 10 16 12 12 7 8
3110 z2==bld: 1) 17 10 15 12 16 18 16 21 18 13
9999 INTFEREXET 196 214 195 220 228 254 248 263 236 213
3510 LR EHT 4 4 7 8 5 14 10 11 8 6
3520 & Rl 8 12 12 12 5 8 19 17 19 9
3530 ERTH 27 27 29 36 42 32 24 43 28 19
3540 Z= R AKHT 8 7 11 15 13 18 16 21 14 14
3550 A EPHET 33 27 29 27 21 23 28 40 32 20
3560 = T EHET 14 16 13 13 10 10 13 14 11 11
3570 = T FaHET 22 21 31 32 24 36 32 3 31 27
3580 | L FRET 17 19 19 9 16 25 17 30 17 20
3590 TEET 0 0 0 0 1 1 0 1 1 3
9999 =S HEKRXE 133 133 151 152 137 167 159 212 167 129
4010 1| QBT 11 9 7 9 12 17 16 19 19 17
4020 {E&HT 3 0 2 6 4 3 3 6 2 7
4030 15T 5 7 7 7 16 10 11 16 10 11
4040 = HEAET 7 3 8 10 7 6 4 7 9 8
4050 K E/T 10 18 19 14 17 24 14 20 13 16
4060 B2 HET 13 8 10 1 11 7 9 12 12 13
4070 dt R BT 4 3 3 4 5 3 4 10 10 7



XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TERET (K)a—F {TIHT (K5F) & 60 61 62 63 64 65 66 67 68 69

4080 =TiSAMT 9 6 6 9 11 8 9 4 6 10
4090 SRR BT 8 8 13 11 12 10 8 13 11 13
4100 Rl 14 10 8 5 4 4 4 5 7 2
4110 it FnET 12 11 9 7 3 5 9 7 11 3
9999 £ XET 96 83 92 93 102 97 91 119 110 107
4510 ERE—FHET 23 31 29 26 33 36 32 28 29 32
4520 EREE — FMET 8 3 10 9 7 7 10 4 3 3
4530 BREE = FHT 5 6 5 6 7 3 6 6 7 2
4540 ERZE P FHT 3 7 2 6 5 4 5 7 3 5
4550 BREE T T 5 4 2 2 3 2 0 4 0 3
4560 EREE N FEHT 1 5 2 1 3 2 1 0 2 0
4570 EREEHFHT 0 2 3 4 6 1 6 7 12 11
4580 AR )\ FEHT 2 4 2 3 6 5 3 10 1 3
4590 EREE N FEHT 7 6 3 3 3 7 3 3 2 2
4600 R FHHET 4 2 5 2 1 0 2 2 2 1
4610 L+ —ZEHT 6 2 5 7 3 3 4 5 5 1
4620 BREE+ — ZBHT 5 7 12 6 8 7 9 6 8 10
9999 AERXET 69 79 80 75 85 77 81 82 74 73
5010 AEF0 B ST 3 5 7 14 6 4 7 6 9 10
5020 AZ N ER {4 BT 6 8 1 6 9 6 12 3 5 6
5030 REF0E{—HT 5 5 8 8 3 4 6 3 5 5
9999 B X 14 18 16 28 18 14 25 12 19 21
5510 i BT 5 9 17 16 11 6 8 5 13 6
5520 = Hh AT 14 18 14 12 21 22 30 24 28 19
5530 =y 15 13 16 15 27 15 15 16 15 21
5540 R 13 6 14 19 13 8 11 11 6 11
5550 ERHET 0 6 5 1 3 3 6 4 4 1
9999 =X ET 47 52 66 63 75 54 70 60 66 58
6010 e BT /)N B 3 7 6 3 2 3 4 8 4 5
6020 [it] BT o 4 3 5 10 3 6 5 4 5 3
6030 I ET &)1 3 6 8 3 1 3 5 4 1 2
6040 13 S HT 12 10 10 12 7 9 8 9 7 9
6050 JIIEHHETER 12 5 4 8 4 6 7 7 8 8
6060 JI| BB 78 3 7 9 9 11 5 6 6 4 4
9999 BEERKXET 37 38 42 45 28 32 35 38 29 31
6510 HZE A #EAET 0 2 0 3 0 0 0 0 1 0
6520 HZE A KT 6 10 12 11 7 11 15 14 9 11
6530 HEAFTHE 4 7 9 7 3 7 4 5 3 5
6540 HEAILTH 6 12 4 11 10 5 5 16 7 8
6550 HEAM 2 NET 3 11 1 5 4 9 1 4 3 3
6560 HEAGILHET 7 5 5 4 2 7 6 6 8 5
6570 HZE A FEIHT 7 4 1 5 5 8 8 13 4 14
6580 H&AEHET 1 7 8 4 4 5 6 4 6 2
6590 HEARH 2 0 2 0 4 1 2 1 0 4
6600 HZE A HHET 5 4 4 3 7 3 2 3 3 5
6610 HEA L TEET 2 1 6 2 1 2 1 3 2 2
6620 HEAEHET 2 2 0 2 2 3 3 3 1 3
6630 HEA T AT 2 3 5 4 3 1 6 3 3 2
6640 H&E A E#SHT 0 2 4 1 3 3 3 0 2 3
6650 HZ&EARHE 0 0 0 0 0 0 0 0 0 0
6660 HZ& A RHT 0 0 0 0 0 0 3 0 0 0
9999 BHEAKRRXE 47 70 61 62 55 65 65 75 52 67
7010 ZRMOmT 5 10 8 3 8 9 9 15 14 3
7020 Z RARHET 8 10 5 16 12 14 12 13 10 7
7030 Z RIRHAET 5 2 6 10 8 6 5 1 7 6
7040 ZRTKEFHET 8 17 10 15 8 4 13 10 9 5
7050 — REFHIGHET 2 4 5 2 6 7 9 4 4 5
9999 ZR&REXE 28 43 34 46 42 40 48 43 44 26



XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TRET(KF)a—F {TEHET (KF) 4 60 61 62 63 64 65 66 67 68 69
8011 IRAETFRERLY 3 1 3 3 2 7 3 7 4 0
8012 IRABTERERA 5 2 7 9 8 6 2 6 3 3
8013 IRAETEFER (X 1 3 2 2 7 5 7 5 4 6
8021 IRAHET KLY 7 2 1 8 4 5 6 8 5 7
8022 IRARETIR KA 0 1 0 0 0 0 0 0 0 0
8023 IRAET K 0 0 0 2 0 0 0 0 0 1
8031 IRAETR AL 4 8 10 5 5 12 8 11 11 7
8032 IRAET RS 2 0 0 0 1 0 1 2 0 1
8033 IRARET R A (X 1 1 2 0 0 2 1 1 0 4
8041 IRAETBHIFLY 3 1 2 3 2 2 5 5 6 4
8042 IRAETELIRA 0 2 1 1 0 1 5 0 3 0
8043 IRARETESIR (X 1 2 1 0 0 0 3 2 0 2
8044 IRARETSh IR 1 0 1 0 1 2 0 1 3 2
8045 IR AHET B851% 1 2 0 0 3 1 3 1 1 2
8050 IR AT SR A 3 10 4 9 4 6 4 4 7 7
8060 IR AT 5T %8 8 6 1 1 6 9 7 10 9 0
8070 IRABTER 9 6 6 5 15 8 8 4 7 8
8080 3 A< BT 8% 2 5 2 3 2 4 2 1 1 2
8090 IR AR ET i E 2 0 3 2 3 5 1 3 0 1
8100 IRAETH /R 0 0 1 2 0 1 1 0 2 1
8110 IR AHT 1] 5% 1 1 1 1 4 3 0 2 3 1
8120 IRAETEEMS 2 7 1 3 2 4 3 5 2 3
8130 IRAETH L 0 0 5 5 1 3 2 4 3 4
8140 IRAETEEERT 7 12 5 6 5 8 5 8 3 2
8150 IRABTRFERXL 1 3 2 9 6 7 5 10 4 3
9999 IR X ET 64 75 61 79 81 101 82 100 81 71
9010 FTHIAEH 23 18 17 17 23 23 25 27 22 16
9020 FTHEEA 8 14 13 15 15 15 19 17 16 13
9030 FTH#HEH 34 44 38 26 37 32 40 32 34 22
9040 FTHEHESE 34 35 40 42 46 34 46 42 45 46
9999 FTHEXE 99 111 108 100 121 104 130 118 117 97
9110 SERTTAHIE 11 14 12 16 25 18 20 18 19 16
9120 BETHEIE 10 14 9 5 11 12 14 9 12 6
9130 FEHHE 4 8 4 4 1 9 6 4 6 5
9140 SERT T 41 18 12 8 15 22 18 25 14 21 18
9150 SEHT L85 17 14 16 18 16 15 22 16 22 17
9160 SRETERAT 21 23 18 23 27 20 22 30 31 26
9170 SERTNHE 26 31 17 22 29 29 3 33 37 32
9180 TRETER 22 26 11 31 19 17 21 26 29 25
9190 fRETZ O 11 1 9 8 6 9 10 10 13 5
9200 SERTET IS 8 2 8 4 9 14 10 11 7 6
9210 BEETEH 9 16 14 14 13 15 20 13 11 8
9220 SEMT R 22 14 14 18 17 16 19 22 15 14
9230 SEET B M 22 22 31 27 24 22 34 32 26 23
9240 SERTIE R 11 9 8 11 7 7 11 10 10 9
9250 SEETAL Frith 18 22 16 22 20 11 13 14 23 11
9999 BERXET 230 238 195 238 246 232 277 262 282 221
9310 B SHET A% 10 7 10 7 6 9 6 12 10 7
9320 R [5ZHETIL 14 7 4 10 7 10 16 10 12 12
9330 HGHET/NE 9 9 6 3 14 8 6 5 1 3
9340 R [5HETR 17 18 19 10 13 17 16 12 13 11
9999 HIGHREXE 50 41 39 30 40 44 44 39 36 33
9410 RETTE 11 10 16 12 17 9 19 21 18 14
9420 RETHAE 4 10 13 20 8 8 14 10 12 8
9430 RETER 3 7 7 7 3 5 8 14 5 11
9440 RETAEF 1 1 0 0 0 0 0 1 1 0
9450 RETHER 2 0 0 1 4 0 2 0 1 0
9460 RETCHE 2 2 3 1 2 0 0 5 1 0



XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TERET (K) a—F {TIXHET (K5F) & 60 61 62 63 64 65 66 67 68 69

9470 RETER 0 3 0 0 1 0 0 1 0 0
9480 SRETHER 0 2 2 3 1 3 3 4 6 1
9999 RXE 23 35 41 44 36 25 46 56 44 34

99999 &&t 1903 2018 1906 2075 2077 2166 2339 2446 2260 1952



XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TEET (KF)a—K {TIRET (KF) 4 70 71 72 73 74 75
10 HiET 2 0 0 2 4 3
20 Jidud:ing 4 5 3 5 4 6
30 18 HT 4 8 5 4 8 6
40 LSHT 3 8 1 3 7 4
50 AET—TH 11 8 11 6 5 4
60 ABTZTH 3 6 11 3 1 4
70 ABT=TH 3 5 8 10 11 9
80 ¥ ST 3 T 3 1 0 1 1 0
90 PR T IR AT 3 12 5 5 10 7
100 Jt D ALET 2 7 2 4 1 3
110 FATHT 22 13 21 19 20 16
120 AT AHT 3 3 4 2 10 1
130 e 4 19 14 5 12 9
140 £ [ BT 0 0 0 0 0 0
150 1 FFrHET 7 5 8 5 11 9
9999 RIEXET 74 100 93 74 105 81
510 ABTETH 7 12 8 16 14 10
520 HEEERT 3 2 5 4 4 1
530 J\TEHET 3 7 5 5 6 5
540 18 EHT 12 6 11 16 11 10
550 Frith T 7 7 5 15 8 9
560 = ZMT 0 3 4 2 6 3
570 EEHT 1 1 3 0 3 0
580 FrEAET 6 7 3 0 3 4
590 FEHT 1 3 2 2 2 1
600 RET 15 8 13 12 19 9
610 PEHT 3 8 5 5 4 8
620 HEET—TH 0 0 0 0 0 0
9999 J\REXET 58 64 64 77 80 60
1010 B HT 1 4 2 4 6 10
1020 L+ AHET 5 10 6 9 8 4
1030 mh FET 4 6 8 6 8 14
1040 Fichagliil] 6 8 12 12 4 5
1050 K AT 5 13 11 12 12 14
1060 F_EHT 10 5 15 14 11 3
1070 IR ET 11 1 18 11 13 1
1080 EHHET 7 10 6 7 5 12
1090 HEHRT 18 12 22 19 14 9
1100 L+ BEHRT 8 12 16 16 9 17
1110 f21EHT 6 4 7 7 5 2
1120 t21F JTHT 3 1 4 1 3 3
1130 + &< HT 1 1 4 1 1 0
1140 Fh R T 0 1 2 0 0 0
1150 FRET—TH 4 3 5 11 5 8
1160 FRET=TH 2 4 3 11 9 5
1170 s 7KHET 4 7 5 5 6 5
1180 EBEAET 12 9 6 6 7 14
1190 ¥ FAHT 3 5 8 3 4 5
1200 KFE—TH 1 4 2 2 6 5
1210 RKFEEIZTH 0 4 5 2 4 3
1220 T 2 3 4 2 4 2
1230 fxHET 6 3 6 4 5 4
1240 = EHT 3 6 4 7 2 2
1250 TR ET 1 3 4 2 5 5
1260 B3 E 2 2 3 0 2 3
1270 EHEET 3 3 1 1 2 2
1280 PRAEHT 2 3 4 3 7 4
1290 SRET 3 4 7 2 6 6
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XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

THET (k) 3—F {TIERHET (KF) 4 70 71 72 73 74 75 16 71 718 719

1300 5 T 2 4 4 2 5 5 3 2 2 3
1310 RILHET 1 2 5 1 1 1 1 1 1 3
9999 AR XEE 136 167 209 183 179 183 160 147 168 191
1510 HED_E BT 11 17 23 23 28 20 16 16 18 17
1520 HEH T HT 17 24 24 26 18 19 17 17 19 13
1530 HEHI0 ST HT 9 8 14 10 10 13 10 8 11 6
1540 KiEHT 7 18 9 13 20 15 6 12 11 20
9999 HERNAR: X 5T 4 67 70 72 76 67 49 53 59 56
2010 EX-L L 2 3 7 7 3 2 6 4 5 7
2020 % E7aHET 3 4 6 7 3 8 3 6 3 1
2030 L0ET 0 0 0 2 0 1 0 0 0 1
2040 HET—TH 4 7 2 4 4 6 3 8 6 7
2050 HMBET—TH 5 7 8 5 7 3 4 6 8 3
2060 ¥a FEET 1 1 0 4 2 1 0 1 1 1
2070 FET—TH 6 4 7 4 12 8 5 5 11 9
2080 FRETZTH 4 6 11 2 3 5 7 6 7 4
2090 iR AT 27 49 68 42 47 36 46 41 46 51
2100 Fr b BT 4 3 4 3 4 6 5 6 6 5
2110 HEWNETET—T B 5 5 3 9 6 6 13 2 4 7
2120 HEWNFTET T B 2 7 8 6 11 3 3 5 2 3
9999 ZEREXE 63 96 124 95 102 8 95 90 99 99
2510 N 31 44 56 48 55 44 41 36 31 40
2520 JKEEHT 17 21 21 24 11 11 17 10 25 10
2530 =/NEHET 6 4 4 6 7 9 10 8 6 9
2540 FHi5HT 5 18 12 14 24 19 13 12 12 14
2550 SPET 7 5 10 7 4 5 6 13 1 9
2560 = EfT 22 22 27 20 32 28 22 21 15 18
2570 REHRT 4 0 2 1 4 5 3 2 6 2
9999 WERXET 92 114 132 120 137 121 112 102 96 102
3010 RHTHET 24 35 22 24 38 29 32 13 20 27
3020 EiTHT 14 16 17 14 22 14 17 19 18 22
3030 L E7HT 6 18 17 21 14 18 12 15 14 12
3040 HES L ET 2 5 4 7 5 5 3 5 4 6
3050 BN G BT 25 37 43 46 44 40 42 31 36 36
3060 HETHET 10 14 24 21 20 18 21 16 14 22
3070 T BN EET 8 16 15 14 12 17 15 14 18 12
3080 FH G BT 6 4 9 8 8 7 5 3 6 8
3090 FH B HT 6 6 12 1 8 8 5 9 10 1
3100 HH R e T 10 11 5 7 8 7 4 2 6 7
3110 z2==bld: 1) 6 15 13 15 11 11 7 10 5 5
9999 INTFIERXE 117 177 181 188 190 174 163 137 151 168
3510 ER HT 1 1 10 2 4 6 5 6 14 7
3520 & Rl 11 9 13 9 14 6 7 8 17 8
3530 ERTH 21 22 24 20 18 21 10 14 17 24
3540 Z= B KHT 13 4 9 15 14 15 10 12 9 5
3550 AEFHT 17 11 22 21 13 24 14 19 18 24
3560 = FERHET 8 4 6 7 9 10 8 5 9 9
3570 = T AT 26 22 29 28 18 21 18 12 22 17
3580 | L FRET 9 16 11 15 16 11 17 8 11 17
3590 JERT 0 0 0 0 0 1 0 0 0 0
9999 SHEEXE 106 89 124 117 106 115 89 84 117 111
4010 1| QBT 9 13 14 3 12 14 9 7 11 13
4020 EEH 2 1 4 5 5 6 2 4 1 1
4030 SHET 2 2 6 5 10 7 2 5 3 7
4040 = HE A< T 1 2 5 9 4 4 10 8 4 4
4050 7K SHT 4 6 13 8 11 11 9 9 9 10
4060 ESE MET 7 10 9 7 10 7 8 9 5 6
4070 dt R BT 2 3 5 1 4 3 4 2 3 3



XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TEET (KF)a—K {TIRET (KF) 4 70 71 72 73 74 75
4080 =TiSAMT 5 8 5 3 5 5
4090 AT 9 7 5 11 14 3
4100 A FOET 1 2 3 1 2 1
4110 Jt FFOET 2 1 2 1 2 0
9999 ERIBRXE 4 55 71 54 79 61
4510 EREE—ZEHT 13 23 27 26 32 23
4520 BREE — ZHT 2 6 3 5 5 5
4530 BREE = FHT 1 1 4 1 6 0
4540 ERZE P FHT 1 2 4 4 5 5
4550 BREE T T 2 4 1 2 1 4
4560 EREE N FEHT 2 0 3 2 2 0
4570 EREEHFHT 0 5 1 2 3 3
4580 AR )\ FEHT 3 1 0 0 1 1
4590 EREE N FEHT 2 1 4 0 3 3
4600 R FHHET 0 2 3 1 3 1
4610 L+ —ZEHT 6 0 2 3 5 2
4620 BREE+ — ZBHT 3 5 4 4 5 7
9999 AERXET 35 50 56 50 71 54
5010 REF0 B HEET 3 3 8 6 6 7
5020 AZ N ER {4 BT 4 3 1 6 4 4
5030 REF0E{—HT 4 1 4 5 5 1
9999 B XE 11 7 13 17 15 12
5510 ph R ET 7 5 6 5 9 11
5520 = Hh AT 11 12 20 19 19 13
5530 iRy 4 14 15 12 10 12
5540 R 6 8 11 6 10 15
5550 ERHT 5 2 3 2 3 3
9999 =i X E 33 41 55 44 51 54
6010 e BT /)N B 1 2 3 6 5 4
6020 [it] BT o 1 0 2 1 2 4
6030 I ET &)1 0 1 3 3 1 4
6040 B2 R AT 3 8 10 3 7 4
6050 JIIEBETER 3 2 5 10 3 6
6060 JI| BB 78 2 4 2 3 4 4
9999 BEERRXET 10 17 25 26 22 26
6510 HZE A #EAET 0 1 0 0 3 2
6520 HZE A KT 3 7 6 7 2 13
6530 HEAFTHE 3 2 4 2 4 5
6540 H&EALLTHT 11 6 10 13 9 5
6550 BHEAM ZNET 1 1 3 2 5 4
6560 HZEAEILHT 2 6 5 7 8 5
6570 HEAIEEHET 3 5 8 6 13 9
6580 H&AEHET 0 5 3 4 4 2
6590 HEARH 2 3 4 3 1 2
6600 HZE A HHET 1 5 4 3 5 1
6610 HEA L TEET 1 2 0 3 2 1
6620 HEAHFHET 1 2 3 3 0 4
6630 HEAT A 2 8 4 5 3 6
6640 HZEA BT 3 2 1 2 1 0
6650 HZEAKHE 0 0 0 0 1 0
6660 HZ& A RHT 0 2 1 1 1 2
9999 BEAKRKXE 33 57 56 61 62 61
7010 ZRIMOm 5 9 10 4 10 5
7020 Z RARHET 2 6 12 6 3 6
7030 Z RIRHAET 1 4 3 1 1 6
7040 Z R T KEFHET 7 6 8 9 5 10
7050 — REFHIGHET 5 4 4 2 6 2
9999 ZR&REXE 20 29 37 22 25 29
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XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TIRET (RF)a—F {TEHET (KF) & 70 7 72 73 74 75 16 77 78 79
8011 IRAETFRERLY 0 2 3 3 3 1 0 2 2 2
8012 IRABTERERA 3 5 7 2 4 8 4 6 6 4
8013 PR A BT 558 (X 4 3 3 1 2 2 2 2 4 1
8021 IRAET KLY 1 4 4 4 4 3 3 6 3 4
8022 IRARETIR KA 0 0 0 1 0 0 0 1 1 0
8023 IRAET K 0 2 0 1 0 0 1 0 0 1
8031 IRARETHR ALY 3 8 4 6 8 6 13 11 4 4
8032 IRARETHRAA 0 0 0 1 0 0 0 0 0 0
8033 IRARET R A (X 0 0 1 0 1 0 1 0 0 0
8041 IRAETELIFLY 1 3 2 2 3 2 3 5 3 4
8042 IRAETELIRA 0 2 1 0 5 1 3 2 3 2
8043 IRARETESIR (X 1 0 0 3 0 1 0 0 0 1
8044 IRARETSh IR 0 2 1 0 2 2 0 1 4 0
8045 IR AHET B851% 1 1 1 1 3 2 3 1 4 1
8050 IR AT SR A 5 4 5 3 5 2 4 5 9 8
8060 IR AT 5T %8 0 2 2 6 6 6 4 1 6 6
8070 IRABTER 4 1 4 3 7 6 4 10 4 4
8080 3 A< BT 8% 2 0 1 2 0 1 1 2 3 1
8090 IR AR ET i E 2 0 2 4 1 0 2 5 1 2
8100 IRABTH /R 0 0 1 2 1 2 1 1 0 2
8110 R ASHET )1 55 0 1 2 3 1 3 1 2 6 6
8120 IRAETEE 3 7 4 3 3 2 4 5 3 8
8130 IRAETH E 0 4 1 4 2 3 4 8 5 8
8140 IRAETEEERT 2 5 8 7 5 1 6 8 1 12
8150 IRABTEEERL 0 1 1 9 1 2 4 2 3 2
9999 IRARRXET 32 57 58 71 67 56 68 8 75 83
9010 FTHEHIREH 8 23 23 18 20 11 20 11 14 1
9020 FTHEER 8 13 9 9 9 13 11 5 11 10
9030 FTH#H%EH 10 27 27 23 21 22 18 13 171 17
9040 FTHEHHEEE 17 47 36 32 39 34 27 29 39 35
9999 FTHREE 43 110 95 82 89 80 76 58 81 73
9110 RETTH L 14 19 23 17 10 10 17 12 21 10
9120 EETE & 5 8 9 5 4 9 6 4 5 7
9130 HEETHE 1 6 9 6 6 4 0 6 3 7
9140 SERTT A 3 17 12 8 5 6 5 11 9 6
9150 fRET E5R 13 1 20 11 15 17 10 14 11 14
9160 SRETERAT 14 26 21 21 22 16 18 14 23 14
9170 fRETANH 15 27 27 26 25 27 11 12 21 31
9180 TRETER 15 19 20 16 22 21 20 15 22 17
9190 RETZ O 3 4 5 8 9 6 7 4 4 7
9200 SR Er I 7 6 3 7 8 8 3 9 8 8
9210 SERT=EH 5 10 13 8 13 13 13 5 7 12
9220 SEET R 8 13 13 23 21 12 17 23 18 23
9230 SEET BM 9 17 17 16 19 14 12 18 16 11
9240 fRETIE R 5 9 5 9 13 7 8 11 7 11
9250 SEETAL Frith 7 7 9 11 9 18 11 15 17 14
9999 ERXE 124 199 206 192 201 188 164 173 192 192
9310 B SHET A% 5 7 6 8 8 10 12 6 11 9
9320 HGHETIE 6 8 9 1 10 11 8 8 6 9
9330 R[S/ 7 7 4 5 9 6 5 7 7 4
9340 R [5HETR 10 11 7 11 17 20 21 13 19 10
9999 HIGHREXE 28 33 26 25 44 47 46 34 43 32
9410 RETTE 5 8 15 10 10 23 11 15 17 20
9420 RETHAE 8 10 19 8 9 13 16 15 14 15
9430 RETEKR 4 9 7 8 13 11 5 13 13 6
9440 RETAEF 0 1 1 1 0 1 1 3 1 1
9450 RETHER 0 1 0 0 1 1 0 0 1 1
9460 RETCHE 2 1 0 1 2 1 2 1 3 1



XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

THET (k) 3—F {TIERHET (KF) 4 70 71 72 73 74 75 16 71 718 719

9470 RETEXR 1 0 0 0 0 1 0 0 0 0
9480 RETHER 5 0 1 1 1 3 1 4 2 3
9999 RRERE 25 30 43 29 36 54 36 51 51 47

99999 &&t 1128 15589 1738 1599 1737 1608 1478 1387 1597 1605



XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK

(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

TRET (RF)a—F {TEHET (KF) & 80 81 82 83 84
10 HiET 6 3 6 4 5
20 [ st BT 8 3 6 1 4
30 AT 2 3 4 3 5
40 LHT 1 4 1 3 4
50 AET—TH 8 6 8 7 4
60 AET-TH 6 1 1 3 1
70 ABT=TH 6 8 5 2 3
80 FAGT 3 T 1 1 0 3 1
90 PR T IR AT 7 1 3 2 2
100 Jt D ALET 1 2 4 0 2
110 FATHT 27 32 18 23 16
120 AT AHT 1 4 5 8 2
130 TEFET 6 10 7 9 12
140 £ [ BT 0 0 0 0 0
150 1 FFrHET 6 5 0 4 0
9999 RIEXET 86 83 68 72 61
510 ABTETH 10 6 10 12 13
520 HEEERT 2 5 0 2 1
530 J\TEHET 8 5 6 9 8
540 18 EHT 14 6 5 4 6
550 Frith T 1 5 6 4 2
560 = ZMT 4 5 2 2 1
570 EERT 1 0 2 1 2
580 FEAET 4 1 1 4 5
590 FEHT 2 1 1 4 1
600 RET 10 13 9 5 6
610 PEHT 3 5 4 5 9
620 HEET—TH 0 0 0 0 0
9999 J\REXET 59 52 46 52 54
1010 BRHT 3 4 4 3 2
1020 L+ AHET 13 6 3 8 1
1030 F 5 ET 8 6 5 7 3
1040 iyl 11 11 10 16 10
1050 K AT 18 16 9 13 6
1060 F_EHT 11 5 5 7 10
1070 IR ET 10 11 7 12 14
1080 & H|ET 7 4 1 10 7
1090 HEHRT 14 19 13 10 17
1100 L+ BEHRT 12 15 15 15 10
1110 f21EHT 5 6 4 5 2
1120 t21F JTHT 7 2 4 0 4
1130 + &< HT 2 0 1 0 2
1140 FXRET 0 0 2 1 1
1150 #FRET—TH 4 7 2 4 3
1160 FEETZTH 11 11 9 4 4
1170 s 7KHET 3 5 9 2 1
1180 EEEALHT 8 3 5 9 6
1190 1 F AHET 5 2 4 5 0
1200 KFE—TH 8 5 1 2 5
1210 RKFEEIZTH 3 0 5 3 4
1220 FTHT 3 6 5 4 4
1230 TR HET 3 5 5 3 10
1240 = EHT 3 3 1 0 6
1250 TR ET 3 2 6 4 3
1260 B3 E 5 2 3 0 0
1270 EHEET 0 2 2 5 5
1280 PRAEHT 4 6 6 5 2
1290 SRET 3 6 0 7 5
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XKH24. 7 IERERBRED—HREICIYNEANZEZH-AO - HEFLK
(H28.5.31I] £ ]4TERET & (K=F) Bl SFn il A O 52 (G5

AT (R a—F {TEET (K=F) &

1300
1310
9999
1510
1520
1530
1540
9999
2010
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
9999
2510
2520
2530
2540
2550
2560
2570
9999
3010
3020
3030
3040
3050
3060
3070
3080
3090
3100
3110
9999
3510
3520
3530
3540
3550
3560
3570
3580
3590
9999
4010
4020
4030
4040
4050
4060
4070

5 T
RILHET

A B X E
HED_E BT
HEHN T BT
HEHI0 ST HT
RIEFHET
HENAR X &
ZERET

= EFhHET
ADET
HET—TH
HMET—TH
¥g (AT
FET—TH
FRETZTH
=L

Fr b BT
WEHEFET—TH
WEWFHET=TH
ZERRKET
N

K EEET
=/NEHET
FHiGHT

R ET

= BHE
KEHRT
NSRS
RFHET
i g 1)

- E7HT

T _EET
B ET
HETHET

T B AT

FH SR T

FH BT

HH R e T
si=sbld:i)

I\ TFEREXE
LR EHT
2[R ET

E R TH
=B KHT

AR ETHET

= T RHET

= T FaHET
L #rET
JERT
SHEEXE
B)1| 9 ET
{ESHET

5ET

S HEAHET

K EHT

ER 4 HHET

It R ET
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